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M ZEETAINFIASE &
A A MEfE2 2E 2 RA2(ZELXNINY/NALEA)
o SANE ot 25 2 25 &2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
HIIANER 50,000& 123 600
206 =4l 4,000 4,000 0
01 M=Hl 4,000 4,000 0
ZHOFMSIE ] 2|8 M=HI 4,000
A7 (s2 02,5217 S) 4,000
301 LEt2A S 4,800 4,800 0
10 HAIAHIE A S 4,800 4,800 0
OFeistME HEA =& 20,0003 »2H 120 4,800
HA==Z2TAIA 2l 197,488 463,091 A\265,603
101 el 122,367 96,545 25,822
04 JIZtHZ2NSE=> 122,367 96,545 25,822
He=STAE 2 A2 122,367
JlE2s 53,1602 x10E x 10 +212 111,636
nELEa 111,636,0003 1. 4% 1,563
MHEEE 111,636,000 *0.705% 788
- =HsSEERE 111,636,000 *4.5% 5,024
=QAHIEE= 111,636,000 *2.82% 3,149
LI QAEER 3,149,000& *6.55% 207
201 Yere2o| 37,381 40,106 ~2,725
01 AtR2teld] 6,400 6,400 0
==X AIR 2l 6,400
0 gUu= 600
SHEA S 2H22B(FXLAMA S)
1,000,000& *10H 2~ 1,000
- MNRES 2l 150,000& =128 1,800
HEA 22AES 2l
1,000& x50 +602 3,000
02 3323l 30,981 33,706 N2,725
oot 500,000& «12& 6,000
=ol24 FHJAHEEI] HIIMNESE
1,000,000& ~6& 6,000
28 HIIMER 500,000& =122 6,000
el A e 1,350 *302L x15A1 254 ¢ 3,281
2SS ¥ == JIEAIE28 sX22l]
5,000,000 * 14 5,000
22l AE AMLEHUIS XY 4,700
2elARd & Red=24 H)|, =2 S &
NE== 2,000
- E2IISXHI(10) 200,000 = 1CH+23] 400
SCI2tD| S AIHI(20H) 200,000 *20H 23] 800
SUFRIISFXLI(1CH) 150,000 *1CH*23! 300
- 2elJISXH(1t) 200,000 = 1CH 23 400
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2N FETAIIRIIAMG A
HH: ol MEIZ 2E Y SUA(RELNANL/XALTA)
Chel =XNE M HE U 232 (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
- Ol = 212 X8I (3CH) 100,000 *3CH 22| 600
- S8 JFS |NH0H)
100, 0002 * 1 CH*23] 200
206 M=l 23,600 18,600 5,000
01 M=H| 23,600 18,600 5,000
HHA==SHEAIRA HZHI 23,600
UH(s< HlE, s, 158 8) 7,000
CESKM(E B2 S)  500,0002 %65 3,000
S 200,000& 20 4,000
A=Y 500,000& 102 5,000
=S EUNE 4,600
301 YptEaazg 6,240 6,240 0
10 EALAHIEA S 6,240 6,240 0
=& =< 20,0003 x4 x78L 6,240
401 AIEHIZ 2 7,000 300,000 A293,000
01 Al&t| 7,000 300,000 A293,000
AR =2AEE2 & ==S3| 7,000
405 AHeHESHI 900 1,600 AT00
01 XL SSFSHI 900 1,600 AT00
HA=SHAE & R SSHSHI 900
oll = 21 450,000 *2CH 900
eSS AIMEE 22 101,088 85,265 15,823
101 elH| 79,248 62,525 16,723
04 JIZtHIZ22HsEE+ 79,248 62,525 16,723
SESKMERA 2e22X B 79,248
&=z 53,160 x8H x5 x343] 72,298
E=ohe= = 72,298,000 *1.4% 1,013
CMHEE 2 72,298,000& *0.705% 510
- ZEAZEE= 72,298,000 *4.5% 3,254
IUALEBEZ 72,298,000 *2.82% 2,039
LoD RLES 2,039, 000& *6.55% 134
201 Let2d| 6,040 6,040 0
01 AR 22| 500 500 0
detsME2 23 22/l 500
OlsAstEA 22X, AMS) 260
OlsAstEA HotEEA 80,0002 304 & 240
02 3234l 5,540 5,540 0
SERSLHA 600
HIIMNEZ 50,000& x12& 600
SESKIMER AEEHIRX 4,940




SA: EESAMIIRIIAI &
M T ME32 &5 2 RAZA(ELNIGMNL/NALE Al
&2l SANE ek 25 2 25 = (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
- Ol F DI XIHI(7TH) 20,000 +7CH 140
- BEIIsX8I(1) 400,000 *1CH 400
- SEERI| FXHI(1) 300, 000 *1CH 300
- ZHCI2 D] RXGI(10H) 500,000& *1CH 500
SEA0FI] 2AHI(20H)
1,000,000 +2CH 2,000
- EYERM=EI |XIHI(50H) 100,000 *5CH 500
- 2elJlsXdl(1t) 400,000 +1CH 400
HII2E E EIIAIE R XY
700,000 *1CH 700
206 M=l 11,000 11,000 0
01 M=4l 11,000 11,000 0
MSSKMEfRA 2] M= 11,000
(s blz2,s017 ) 4,000
=MAES Y HELX 70,000& 1003 7,000
301 LptEaag 4,800 4,800 0
10 EAAHIBAS 4,800 4,800 0
SESKMEA HEHEA =5
20,0003 »2H +120& 4,800
DELIE 2 608,224 452,986 155,238
101 el 247,644 156,306 91,338
04 JIZtHIZ2E2NEE S 247,644 156,306 91,338
NELREY 2e22X B+ 247,644
l2a 53,160 x25H x 170 225,930
E=Jh= = 225,930,000 *1.4% 3,164
MUMEER 225,930, 000& *0.705% 1,593
- ZEASEE= 225,930,000 *4.5% 10, 167
SUALEE S 225,930,000& *2.82% 6,372
LOEIRUYEE 6,371,000& *6.55% 418
201 LBt 3| 42,080 40,080 2,000
01 AtS 22l 500 500 0
DEARH 2| LRI 500
MRA 2N (EX,MEHS) 500
02 =234l 41,580 39,580 2,000
NEARHF2AC SS22H| 41,580
HMIANEBE(23I], B, 22Al)
250,000& «12& 3,000
HIotSA HHetd] 34,200
2te| Ab HHEH 1,080
Kot ==2eEZ SXIHI(10)
500, 000 *1CH 500
Z2I SXLI(1H) 400,000 *1CH 400
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SA: EESAMIIRIIAI &
M T ME32 &5 2 RAZA(ELNIGMNL/NALE Al
&2l SANE ek 25 2 25 = (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
- ZelJl SXIdI(1th) 400,000& = 1CH 400
- ZElALR A, HIEOIRAAE |2 2,000
206 M= dl 36,600 36,600 0
01 M=l 36,600 36,600 0
DEARE2C MEH| 36,600
AM(ZE s HlE,s017S) 15,000
HSNHM(REE ) 400,000 x45 1,600
ZSEX(HX S 208) 1,000,000 *20S 20,000
401 Al&HIZL=ROHYI 218,000 220,000 22,000
01 Al&H| 218,000 220,000 A2,000
CEHILoRA4HS 28, 20E 28) 18,000
DEXDE SUHSALS (28 200,000
405 AHoHESHI 63,900 0 63,900
01 AL SEFSHI 63,900 0 63,900
OIAtE 3 & &I 21,000,000& *14! 21,000
CHolso32| 25,000,000& * 14! 25,000
ZE =T 7,000, 000& 14 7,000
f+s 20l 1,000,000& =14 1,000
2HOFCH Xt 600, 0003 *54! 3,000
SEHHE 5,000, 000& =14 5,000
SR (ATA) 7.5H 1,200,000 *1CH 1,200
HEI|(AMTIA) 600mm 700,000 *1CH 700
282 =sX32 22 88,242 60,344 27,898
101 Q14| 39,860 17,657 22,203
04 JIZtHIZ22HEsE > 39,860 17,657 22,203
TIMEE 2R Y 22,377
2SS 53,160 x4 H 162 +63] 20,414
NE2ER 20,414,000& *1.4% 286
AHTHEE = 20,414,000& +0.705% 144
-2 sSEER 20,414,000& *4.5% 919
- =HAEER 20,414,000 *2.82% 576
LOEIRUYBER 576,000 *6.55% 38
SHIHOI2E 2el22 X B+ 17,483
g 53, 1603 *3F «5 & x202] 15,948
- UNEBE= 15,948,000& *1.4% 224
MTHEE = 15,948, 000& *0.705% 113
-2 EER 15,948,000& *4.5% 718
- SHAEEZ 15,948,000& *2.82% 450
LI RAES 450,000 *6.55% 30
201 Let2IH| 13,322 6,000 7,322
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S Tt

el

ZECARIIAY L
Rol MEIBY EE U RNV (FELXANL/NAULE
SXNE Ma =5 L 22 =0

S BB SR (B) - NEAY - BAS 0f & o Soe DB
01 AtS22iHl 6,000 6,000 0
JtSUBl Blat2t==Xtg 2 XtHl 300,000 «20CH 6,000
02 3323l 7,322 0 7,322
SO X 7,322
SMHIM Il =Xl 500,000& *3CH 1,500
ST II(3CH) RFHI
1,400 +2102 3 Al 2+%3. 32CH 5,822
206 T2 H| 5,000 3,000 2,000
01 M=Hl 5,000 3,000 2,000
TEMNGEE 22l MEHI(XF22208) 3,000
SHIAMI 2L M=HI(otd, 22 S) 2,000
301 LetEd = 30,060 33,687 N3,627
09 SUZRRIALHS 30,060 33,687 N3,627
SAE 103,800 x9E 12 11,211
=S4l 110,000 x9F 12& 11,880
wSH 2,600 x22& 9B x 12 6,178
/=4 263,480& »3& 791
233t 2el & HAE K 50,713 62,404 211,691
101 1A 17,483 15,174 2,309
04 JIZtHZE2NSE=> 17,483 15,174 2,309
fastael 22A B 17,483
== 53,160 x3& 100 15,948
nELE= 15,948,000 *1.4% 224
MHEEE 15,948,000& *0.705% 113
U sSEEE 15,948,000 *4.5% 718
=0HIEE= 15,948,000& *2.82% 450
SR AEEE 450,000 *6.55% 30
201 2Bt 15,230 15,230 0
01 AtR2teld] 15,230 15,230 0
F3EAE 12,730
22223 ZAH , BHS) 3,000
HdA2E 78 € = 2,500
SELE =Y A 100, 000& 44 400
SO 18,000 » 1504 270
£33 &€= WA 1,500, 0003 *2J4 £ 3,000
a2 2204 400& *4,000= 1,600
ZHE4 1,400
=24 =& 7,000& 10 8 560
A= 2,500
RIFHEANZ 2EH(SLTAE) 1,000
S23 HAS SEH(FAAIU) 1,500




SA: EESAMIIRIIAI &
FE: A MEfZS2t &5 2 S22 (ZELXNINL/NSLZAI)
el s i &5 2 25 3 (etel: =3
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2
203 ¥R =&l 1,000 1,000 0
03 AZFXHRFAH| 1,000 1,000 0
F2EAE HAHRFEY 1,000
206 M= dl 17,000 31,000 A 14,000
01 M=l 17,000 31,000 A 14,000
HAIE st WA 200,000 & =8O H 16,000
A (s HE, =017 S)F 1,000
EMEX R 2SIE 2el 158,326 104,075 54,251
201 LEH=2 Y| 64,876 71,415 26,539
01 AtE22(Hl 28,600 0 28,600
HEIEF A 25,600
EACHY & 2tet HIA 3,000
02 3323l 36,276 71,415 A35,139
A= XAl 720
HEssxt 350,000 =1CH 350
L8 E 30,0003 = 1CH 30
Sdst= 50,0002 =24 100
-HEs= 120,000& +2CH 240
AAsit 282 3,316
-HESEX(1H) 229,000 *1CH 229
A2EIE(1U) 420,000 »1CH 420
SIS (1) 447,000 = 1CH 447
& st=(30H) 640,000 +3CH 1,920
SAI(10H) 300,000 *1CH 300
AN RES 3,000
NEZSE 400
N 2,600
AL 22l 1,000 *50L x8AI2t%16.2 £ 7,064
FArs X 2el 7,100
- St HA(30n) 400,000& =13 400
- E2Y3 Ha(1om) 600,000& »23| 1,200
EASX M 2 2,500
- HAE L (30H) |l 1,500
- NotM=sZx HX =2|H| 500,000& = 14! 500
AEAIE erM 22| =Xl
1,000,000& » 14| 1,000
A 8HOM MMl I 484
SISt E3lH(H2H) 36
g™/ 8Yu=H|
100,000& 13 100
- ghst2tel X g3lhi(H2t) 48
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SA: EESAMIIRIIAI &
FE: A MEfZS2t &5 2 S22 (ZELXNINL/NSLZAI)
SRl AlEe MY 243 & Hgss 28 29 (ehel: =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
- W HHI 4,000& x150% 600
- A XHH I 4,000
=0 M 100, 0002 24 200
ANEAT ALY A3t 31,942 30,099 1,843
101 Q14| 8,742 6,899 1,843
04 JIZHHZ2HSE= 8,742 6,899 1,843
24 L ANEAWA 2222 B 8,742
2= 53,1603 *3Z x5 «102] 7,974
=EEg= 7,974,000 *1.4% 112
ATHEE = 7,974,000& *0.705% 57
-2 sSEER 7,974,000 x4 .5% 359
=0HAEE= 7,974,000 %2.82% 225
LI RLEEE 225,000 *6.55% 15
201 Let2d| 8,200 8,200 0
02 3223l 8,200 8,200 0
FAr=24 e 7,200
FAr=24 |XH| 1,000
206 = dl 5,000 5,000 0
01 M=l 5,000 5,000 0
24 L AEATA 22 M=Hl 5,000
ANF2F=AAEDISHE 2832 20K 3,500
a2 MMHIZE, =507 &) 500
ANEATHA 2 (s, sI17S) 1,000
207 A 1OH | 10,000 10,000 0
03 A&l H] 10,000 10,000 0
ANEHPAY 22l 10,000
AEA AL (PCREH AIEFES) 10,000
HER2LHHU(FEZAMINRIIALE ) (JIEH/JIE) 1,318,820 1,721,910 A403,090
QI 2 1,202,777 1,594,680 A 391,903
eIzl 1,202,777 1,594,680 A 391,903
101 Q14| 1,162,097 1,538,460 A376,363
01 B 1,117,196 1,496,064 A 378,868
== 751,516
-HEs(1Y)
(57,000,0002+57,000, 0002 *66%*3.5%) * 1% 58,317
== (24%) 693, 199
-6= 3,083, 1003 »3& «12& x1.035 114,877
-2 2,568,800 »9H 128 x1.035 287,141
-8=2 1,968,800 »7H 128 x1.035 171,168
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2N FETAIIRIIAMG A
B WES A A (TEEAIRIIALL)(IIEIIE
& QI 2AY|
SH - A G9(E) - HEAY - BAS Ol o e
0 4 o
-9 1,930,400 *4H 12 x1.035 95,903
- A 1,941,200 * 1H 123 x1.035 24,110
d2=H 693,199,000 *1/12 57,767
AN2e 2R 96,935
= 8,943 x42 Al 2tx3H 122 1,035 13,996
7= 8,078& 42 Al 2Hx8H 128 x1.035 33,711
= 7,252 x 42 A 2tx11H * 123 x1.035 41,613
- 102 5,977 *42 A 2t 1H %122 %1.035 3,118
A 8,620& x42 Al 2tx1H %123 +1.035 4,497
== 20,640
PN 40,0003 x23H «12& 11,040
HHE HIS 20,0002 »40H 12 9,600
NESHIEXEY 13,605
EA=m) 51,9903 7 *43| 1,456
E=S=igm 433,880 »7H x43] 12,149
F2=Go3 25,560
- Jl2 23,040
204901 & 100,000 «11E »12& 13,200
-15&E~20= 01 2t 80,0003 x4H«12& 3,840
-10=~15E 0] 2t 60,0003 x5F x12& 3,600
-5E~10& 0| et 50,000 x4 H 128 2,400
- FIPHZE 2,520
-20E~25E 0] Bt 10,0003 x6H x 122 720
-25E 01 & 30,0003 x5 «12& 1,800
e+ 25,000,000& *4 . 1%+ 12& 12,300
J=8+Y 7,680
T=ara=1 30,000 x8H «12& 2,880
- 8=0I3t 20,0003 *10E 12 2,400
IS (IS, IIAL 30,000& x4 H «12& 1,440
IS (AFE DI AL) 20,0003 x4 H 123 960
Ex(AHsSH2dLEHER) =L
40,0003 x4EH 122 1,920
FE2RE 480
=5 40,0003 x1E+12& 480
HHZAH(259) 130,000& *25F x 123 39,000
OrM2AL| S (A 2T AIIIA M 22| XT)
10,0003 x1H+12& 120
EH (AT RY HPURY)
80,0003 x1H«12& 960
YHESIHHI(E=2) 693, 199,000& *1.2/12 69,320
HItE At 19,393
Ad==019) 58,317,000 & *66%*11/360 1,177
sE=(4%) 693, 199,000 «86%+11/360 18,216
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SA: EESAMIIRIIAI &
M HHS2AGUI(FETAIIRIIAIG 2) (I1EHIIEH
& QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o als B RS2
0f 4 o8
03 RIAHAZZNHE = 44,901 42,396 2,505
=X2el & 44,901
les(17as) 1,304,800& 1« 123 15,658
a0z 10,505
Y=< 954,900 *43| 3,820
-d2+E 954,900& »22] 1,910
-H= S| 954,900& *52] 4,775
ERUES 3,060
-tESE (X 40,0002 x1H« 128 480
“ESE(RLIE) 20,000 x1H«12& 240
SR 125,000&3 x1E + 122 1,500
s R R R =y 70,0003 x1E«12& 840
Sc| =AY 7,212
-Z S Al 160,000 «1H «12& 1,920
-JbH 2 2= 110,000 «1H <128 1,320
-“wWES2 x| 140,000& x1H~12& 1,680
-2 &E S0l 1,145,880& *23l 2,292
T RE 2,663
-FL2RE 109,370 +1H«3 «3& 985
-AltmeSsE 72,920 x1H +232 1,678
JIEt==&f 1,800
-7 44 100,000& x1H ~12& 1,200
-CHBI S AtHI 50,0003 x1E«12& 600
50 282 3,933
-NESBEE 40,898,000 *1.4% 573
MIHEEZ 40,898, 000& +0.705% 289
-3z EE= 40,898,000% x4 .5% 1,841
-S0ALEEE 40,898,000 *2.82% 1,154
LA RAEE 1,154,000 *6.55% 76
IsHl(s=,0t=) 70,0003 x1H 70
204 A=A 40,680 56,220 A 15,540
02 Mg EXH 40,680 56,220 A 15,540
NZEIH(25Y) 40,680
= 400,000 x1E ~ 123 4,800
- 65, HA 155,000& x4 H 128 7,440
7= 140,000& 8H 12 13,440
- 8=2~93 105,000 11 x12& 13,860
- 102 95,000 x1H«12& 1,140
Jl=2Z4l 116,043 127,230 A11,187
Jl=&d| 116,043 127,230 211,187
201 Yere2o| 38,870 47,820 £8,950
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